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Quiz Date: 18t May 2020

Directions (1-5): Study the following Pie chart carefully and answer the questions given
below.
Cost estimated by Gagan for various expenditures to be made by him in his sister’s
marriage.

Total cost estimate Rs. 2,40,000

H
11%

Q1. During the marriage ceremony Gagan actually incurs expenditure on E of Rs. 20,400.
The actual expenditure on E incurred by Gagan is what percent of the total estimated cost?
(@) 9.5

LK

(c) 8.5

(d) 10.5

(e)12.5

Q2. Other than getting a discount of 12% on the estimated cost for D and the actual
expenditure on E of Rs. 20,400 instead of the estimated, Gagan’s estimated cost is correct.
What is the total expenditure (in Rs. ) of Gagan in marriage ceremony?

(a) 237456

(b) 231852

(c) 239000

(d) 233000

(e) 242950

Q3. What is the difference in the amount estimated by Gagan for A and H (In Rs.)?
(a) 20,000
(b) 19000
(c) 14400
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(d) 18000
(e) 19200

Q4. What is the cost estimated by Gagan for B and C together (In Rs.)?
(a) 73,000
(b) 69,600
(c) 72,000
(d) 69,000
(e) 66,900

Q5. Gagan get a discount on D and pays 12% less than the estimated cost for it. What is the
amount spent on D (In Rs.)?

(a) 26400

(b) 29052

(c) 27052

(d) 27456

(e) 27645

Directions (6-10): Study the given graph carefully to answer the questions that follow.
The graph shows the number of people using mobile services of three different companies.
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Q6. What is the average number of people using mobile service of Loop for all the years
together (in thousand)?
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Q7. The total number of people using all the three mobile services in the year 2017 is what
per cent of the total number of people using all the three mobile services in the year 20187
(rounded off to two digits after decimal)

(a) 89.72%

(b) 93.46 %

(c) 88.18%

(d)91.67%

(e) 79.46%

12 Months Sub

SBI PO
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Test Series, eBooks

English (with eBooks)

Q8. The number of people using mobile service of Jio in the year 2016 forms approximately
what per cent of the total number of people using all the three mobile services in that year?
(a) 18%
(b) 26 %
(c)11%
(d) 23%
(e) 29%

Q9. What is the ratio of the number of people using mobile service of Verizon in the year
2015 to that of those using the same service in the year 2014?

(a)8:7

(b)3:2

(c)19:13

(d)15:11

(e)7:8

Q10. What is the total number of people using mobile service of Loop in the years 2018 and
2019 together?

(a) 35,000

(b) 30,000

(c) 45,000

(d) 25,000

(e) 40,000
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Directions (11-15): Study the following table carefully and answer the following
questions

Given below is the table which shows the total number of voters in 5 villages, percentage of
voters who voted and number of females, who have not voted.

No. of females
. Total % of voters
Village who do not
voters who voted
vote
A 12,000 8504 750
B 14,000 909% 1,250
C 18,000 9204 1,000
D 8,000 7504 1,500
E 10,000 8004 700

Q11. What is the ratio of men who do not vote from village B and C together to the men
who do not vote from village A and D together?

(a) 59:155

(b)61:63

(c)95:119

(d) 47 :63

(e)21:43

Q12. What is the difference between average of female who do not vote from village A, B
and C to the average of male who do not vote from village A, D and E?

(a) 40

(b) 45

(c) 50

(d) 30

(e) 55

Q13. Total females from all the villages together who do not vote is what percent of total
voters from village C and D together.

(a) 15%

(b) 12%

(c) 10%

(d) 18%

(e) 20%

Q14. If voters from village A increases by 20% and females who do not vote increases by

100 . .
= % then men who do not vote increases or decrease by what percent consider % of

voters who vote remain same. (approximate)
(a) 10%
(b) 18%
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(©)17%
(d) 13%
(e) 15%

Q15. Men who do not vote out of total voters is maximum for which village?
(a)A

(b) B
(c)C
(d)D
(e)E
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Solutions
S1. Ans.(c)
Sol.
Required percentage = 20400 %100 = B.5
240000

S2. Ans.(a)
Sol. Estimated cost for E = 8% of 240000 = 19200
Total expenditure of Gagan = 240000 - 19200 + 20400 - 12% of 13% of 240000

=Rs. 237456

S3. Ans. (e)
Sol. Required difference = (19-11)% of 240000 = 19200

S4. Ans.(b)
Sol. Required cost = (15+14)% of 240000 = 69600

S5. Ans.(d)
Sol. Amount spenton D = (100 - 12)% of 13% of 240000 = 27456

S6. Ans.(c)
Sol.


https://www.adda247.com/product-testseries/3359/sbi-po-prime-2020-online-test-series?utm_source=bankersadda&utm_medium=article
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Average
=§>< [5 + 10 + 25 + 20 + 25 + 15] % 1000
— 100000 — 166652

S7. Ans.(d)

Sol.

Required % = = X 100 = 91.67%

S8. Ans.(a)
Sol.
Required % = £ * 100 = 18% (approx.)

S9. Ans.(b)
Sol. Required Ratio=15:10=3:2

S10. Ans.(e)
Sol. Required no. of people = (25 + 15) x 1000 = 40000

S11. Ans.(a)
Sol.
Men who do not vote from B and C together

10 8
= ——x 14000 — 1250 + —— x 18000 — 1000
100 100

= 1400 — 1250 + 1440 — 1000

= 150 + 440

= 590

Men who do not vote from village A and D together

15 25
=—— % 12000 — 750 + —— % 8000 — 1500
100 100

= 1800 — 750 + 2000 — 1500 = 1550

59
Required ratio = —
155

S12. Ans.(c)
Sol.

Adda247.com
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Average of female who do not vote
from A, B and C together
. 750 4+ 1250 4+ 1000

3
Average of men who do not vote

from A, D and E together

= 1000

15 25 20
_ 100 ® 12000 — 750 + m?‘( 8000 — 1500 + ﬁ)‘( 10,0600 — 700
3
1050 4+ 500 + 1300 2850
3 3
2850 150
Required difference = 1000 — 3 = 5 =50

SBI PO 2020

COMPLETE eBOOKS KIT

Ace Reasoning | Quant | English
Puzzle | Data Interpretation

S13. Ans.(e)
Sol.

Required percentage
_ 750 + 1250 + 1000 + 1500 + 700

26000

* 100

5200 20%
260

S14. Ans.(a)

Sol.

Total voter in A after increment = 14400

Total females who do not vote after increment = 1000
Men who do not vote from A after increment

Adda247.com
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15
=——x 14400 — 1000
100

= 2160 — 1000
= 1160

Required percentage
_ 1160 — (15 120 — 750)

= 100
(15 % 120 — 750)
= 110 = 100 & 10%
~ 1050 ~
S15. Ans.(e)
Sol.

From A, Men who do not voted = 1050
From B, Men who do not voted = 150
From C, Men who do not voted = 440
From D, Men who do not voted = 500
From E, Men who do not voted = 1300
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